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EIET
@ (1.050+8.677) x1.624x1/2x 4. 124 52. 66 m’
@  118.30x1.532 181.24 m®
@ (13.000+14.484) x1.623x1/2x 4. 114 91.76 m’
@ (2.000+3.650) x 1. 650 x 1/2x 4. 141 19.30 m’
#a - Loy 1.70x1.20x0.15x5+1. 70X 1. 50 X 0. 15 x 3+1. 50 x 1. 50 x 0. 15 x 2+2. 457 x 1. 50 X 0. 15X 1
+1.70x1.70x0. 15 6 6.51 m®
&8 35147 m°
EET
@ (52.66-(0.60x0.60x0. 60x3+1.50x 1. 30 x0. 50 3)) 49.09 m’
@  (181.24-(0. 60 x 0. 60 X 0. 60 x 10+1. 50 x 1. 50 x 0. 50 X 6+
" 1.30 x 1. 30 X 0. 50 x 2+2. 257 x 1. 300 x 0. 50)) 169. 17 m®
@ (91.76-(0.60x0.60x 0. 60X 4+1. 50 x 1. 00 x 0. 50 X 4)) 87.90 m’
@  (19.30-(0.60x0.60 x 0. 60 1+1. 50 x 1. 00 X 0. 50 X 1)) 18.33 m®
A 324.49 m°
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HET

LA —E@E  FI 5.00 &
SIE—EE  F2 1.00 &
IV —E@  F2 1LO0E (R&247)
VIV —ERE  FY 1.O0E (Wx247)
VI —EBE  F3 1.00 &
VIV —ER  F3 1.00 & (R&24F)
VIV —ERE  F4 1.00 &
VIV —EBE  F5 5.00 &
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Ehe| T & BT & BT B
BE - THRERR
L1682 x W100 x H20000| 10 1| 14.27] 1.43] 10.75] 1.08 2.33]  0.23
EEENR
L1126 xW262 xH1195 [ 10 11 7.70 0.77 6.05| 0.61 0.98 0.10
RMEENIR(NR)
1400 x W74 x H1903 10 11 5.93 0.59 4.42] 0.44 1.02 0.10
FEEAR (29 > —fth)
1400 x W74 x H1903 10 2| 5.93 1.19 4.42] 0.88 1.02] 0.20
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B
D LA —EBEEFEMER () SR
i& Al R - Tk H 4 B # £ =
DT —HEET
(o ck=21N/mf)
WEIVH) -k &Y V= 0.60x0.60x0.60 0.22
(o ck=21N/m)
HEEa o) -k &Y V= 1.00x1.50x0.50 0.75
(o ck=18N/m)

ECcavy)—+k EOEEY V= 1.20x1.70x0.05 0.10
2 (1R %) HEEY A= 0.60x0.60x4 1.44
B (EH) &Y A= (1.50%0.50x2+1.00x0.50x%2) 2.50
B (32 0) BL A= (1.70%x0.05%x2+1.20%0.05x%2) 0.29

BEYIYTY
HIERA (RC-40) t=10cm | A= 1.20x1.70 2.04
[IMERH SD295 (D10) W= (2.30%x6)+1.782%8) x0.560-=-1000 0.016
72— T/ SD295 (D10) W= (1.948 x6) x0.560+1000 0. 007
N—RfH SD295 (D13) W= (1.360x6)+0.860x8) x0.995--1000 0.015
ES:) SD295 (D16) W= (1.387x8) x1.560+1000 0.017
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i& Al R - Tk H 4 B # £ =
DT —HEET
(o ck=21N/mf)
WEIVH) -k &Y V= 0.60x0.60x0.60 0.22
(o ck=21N/m)
HEEa o) -k &Y V= 1.30x1.50x0.50 0.98
(o ck=18N/m)

ECcavy)—+k EOEEY V= 1.50x1.70x0.05 0.13
2 (1R %) HEEY A= 0.60x0.60x4 1.44
B (EH) &Y A= (1.50%0.50x2+1.30x0.50x%2) 2.80
B (32 0) BL A= (1.70x0.05%x2+1.50x0.05x%x2) 0.32

BEYIYTY
HIERA (RC-40) t=10cm | A= 1.50x1.70 2.55
[IMERH SD295 (D10) W= (2.30%x7)+2.082%8) x0.560-=-1000 0.018
72— T/ SD295 (D10) W= (1.948 x6) x0.560+1000 0. 007
N—RfH SD295 (D13) W= (1.360x7)+1.160x8) x0.995--1000 0.019
ES:) SD295 (D16) W= (1.387x8) x1.560+1000 0.017




SILA—HEER)  F2 HAHE1EE 1%y
B&
D )LA—EBEMER ) SR
R34 )
i Al g - Tk g 4 B # B =
DA —HBET
(o ck=21N/m)

WE VY- HEHEEY V= 0.60x0.60x0.60 0.22 m®
(o ck=21N/m)

Aoy ) —+ HEHEEY V= 1.30x1.50x0.50 0.98 m’
(o ck=18N/m)

BTavsyy—+k EEEY V= 1.50x1.70x0.05 0.13 m’
B (AR ) REEEY A= 0.60x0.60x4 1.44 m?
TP (ERE) BHEEY A= (1.50x0.50%2+1.30x0.50x%2) 2.80 m?
B FET) BL A= (1.70x0.05x%x2+1.50x0.05x%2) 0.32 m?

BEIIYHIY
HEEwa (RC-40) t=10cm | A= 1.50%1.70 2.55 m?
[EMEH SD295 (D10) W= (2.30x7)+2.082x8) x0.560=1000 0.018 t
27— T SD295 (D10) W= (1.948 x6) x0.560-1000 0. 007 t
RN—RfAh SD295 (D13) W= (1.360x7)+1.160x8) x0.995-=-1000 0.019 t
£ SD295 (D16) W= (1.387x8) x1.560-=1000 0.017 t
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DA —HBET
(o ck=21N/mrf)

B/EaVH)— HEHEEY V="0.60x0.60x0.60-(0.103x0.210x0. 60) 0.20 m®
(o ck=21N/m)

Aoy ) —+ HEHEEY V="1.30x1.50x0.50-(0.205x0.526 x0. 50) 0.92 m’
(o ck=18N/m)

Tavs)—F EHEEY V= 1.50x1.70x0.05-(0.305x0.626 x0.05) 0.12 m’
B (AR ) HEHEEY A= 0.60x0.60x2+40.39%0.6040.50x0.60+0.23x%x0.6 1.39 m?
TP (ERE) BHEEY A= 1.50x0.50+1.30x0.50+1.30%0.5+0.77%0.5+0.56x0.5 2.72 m?
RO BL A= (1.70+1.50+1.40+0. 87+0. 70) x 0. 05 0. 31 m?

BEIIYHIY
HERA (RC-40)t=10cm | A= 1.50x1.70—0.3x0. 63 2.36 m?
[EMEH SD295 (D10) W= ((2.30x4)+(2.082x6)+2.069+2. 159+2. 249
" " +2.015+2. 141) x 0. 560=1000 0.018 t
27— T SD295 (D10) W= 1.897x6x0.560-=1000 0. 006 t
R — 2R SD295 (D13) W= (1.36x4+1.16x641.12941.21941.309+1.09341. 219) x 0. 9951000 0.018 t
£ SD295 (D16) W= (1.387x9) x1.560-=1000 0.019 t
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DI )LA—HBET
(o ck=21N/m)

WE VY- HEHEEY V= 0.60x0.60x0.60 0.22 m®
(o ck=21N/m)

Aoy ) —+ SREREEY V= 1.30x1.30x0.50 0.85 m’
(o ck=18N/m)

ETavysy—+ EEEY V= 1.50x1.50x0.05 0.1 m’
B (AR 5) REEEY A= 0.60x0.60x4 1.44 m?
B¥ (BEHE) SAEEY A= 1.30x0.50x4 2.60 m?
¥ (12 T) BL A= 1.50x0.05x4 0.30 m?

BEIIYHIY
HEEwa (RC-40) t=10cm | A= 1.50%1.50 2.25 m?
I ERH SD295 (D10) W= (2.10x7)+2.082x7) x0.560=1000 0.016 t
27— T SD295 (D10) W= (1.948 x6) x0.560-1000 0. 007 t
RN—RfAh SD295 (D13) W= (1.160x14) x0.995+-1000 0.016 t
£ SD295 (D16) W= (1.387x8) x1.560-=1000 0.017 t
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Ed Al R - Tk g 4 B # 5 =
DI )LA—HBET
(o ck=21N/m)

WE VY- HEHEEY V= 0.60x0.60x0.60 0.22 m®
(o ck=21N/m)

Aoy ) —+ SREREEY V= 1.30x1.30x0.50 0.85 m’
(o ck=18N/m)

ETavysy—+ EEEY V= 1.50x1.50x0.05 0.1 m’
B (AR 5) REEEY A= 0.60x0.60x4 1.44 m?
B¥ (BEHE) SAEEY A= 1.30x0.50x4 2.60 m?
¥ (12 T) BL A= 1.50x0.05x4 0.30 m?

BEIIYHIY
HEEwa (RC-40) t=10cm | A= 1.50%1.50 2.25 m?
I ERH SD295 (D10) W= (2.10x7)+2.082x7) x0.560=1000 0.016 t
27— T SD295 (D10) W= (1.948 x6) x0.560-1000 0. 007 t
RN—RfAh SD295 (D13) W= (1.160x14) x0.995+-1000 0.016 t
£ SD295 (D16) W= (1.387x8) x1.560-=1000 0.017 t
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B&
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Ed Al R - Tk g 4 B # 5 =

DA —HBET
(o ck=21N/mrf)

BEaLHY— RIS EY V=" (0.60x0.60x0.60) x2 0.43 m’
(o ck=21N/m)

HEa o) —Fk SREREEY V= 1.30x2.257x%0.50 1.47 m’
(o ck=18N/m)

ETavysy—+ EEEY V= 1.50x2.457x%0.05 0.18 m’
B (AR 5) A EEY A= 0.60x0.60x8 2.88 m?
B (ELHE) BHEEY A= 0.50%x2.257x2+1.30%0.50%2 3.56 m?
B FET) BL A= 2.457x0.05%x2+1.50%0.05x%x2 0.40 m?

BEIIYHIY
HEBRA (RC-40) t=10cm | A= 1.50x2.457 3.69 m?
I ERH SD295 (D10) W= (3.057x7)+2.082x12) x0.560=1000 0.026 t
7 — T8 SD295 (D10) W= (1.948x12) x0.560-+1000 0.013 t
RN—RfAh SD295 (D13) W= (2.117x7+1.160x12) x0.995-=1000 0.029 t
£ SD295 (D16) W= (1.387x16) x1.560-+1000 0.035 t
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73
D)L —EBEME ) SR
i& 7l R - Tk g B R W £l =
DA —HEET
(o ck=21N/mm)
WEIVH) -k &Y V= 0.60x0.60x0.60 0.22
(o ck=21N/mf)
HEEa o) -k &Y V= 1.50x1.50x0.50 1.13
(o ck=18N/mf)

Ecarvyy—+k EOEEY V= 1.70x1.70x0.05 0.14
B (AR5) HHEEY A= 0.60x0.60x4 1.44
B (B BIEEY A= 1.50x0.50x4 3.00
AR (ETO) BL A= 1.70%0.05x4 0.34

BEYIYNTY
HEERA (RC-40) t=10cm | A= 1.70x1.70 2.89
[IMERH SD295 (D10) W=(2.300+2. 300) x 8 x0.560=1000 0. 021
72— SD295 (D10) W= (1.948 x6) x0.560+1000 0. 007
N—RfH SD295 (D13) W= (1.36+1.360) x8x0.995=1000 0.022
ES:) SD295 (D16) W= (1.387x8) x1.560+1000 0.017
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i& 7l R - Tk g B R W £l =
DA —HEET
(o ck=21N/mf)

WEIVH) -k &Y V= 0.60x0.60x0.60 0.22
(o ck=21N/mf)

HEEa o) -k &Y V= 1.50x1.50x0.50 1.13
(o ck=18N/mf)

Ecarvyy—+k EOEEY V= 1.70x1.70x0.05 0.14
B (AR5) HHEEY A= 0.60x0.60x4 1.44
B (B BIEEY A= 1.50x0.50x4 3.00
AR (ETO) BL A= 1.70%0.05x4 0.34

BEYIYNTY
HEERA (RC-40) t=10cm | A= 1.70x1.70 2.89
[IMERH SD295 (D10) W=(2.300+2. 300) x 8 x0.560=1000 0. 021
72— SD295 (D10) W= (1.948 x6) x0.560+1000 0. 007
N—RfH SD295 (D13) W= (1.36+1.360) x8x0.995=1000 0.022
ES:) SD295 (D16) W= (1.387x8) x1.560+1000 0.017
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Al R - Tk g 4 B # 0 =
RNUFA L1200 x W555 x H755| N= 10.0 10.0
o ck=18N/mrf

1) — bk | &/ - #SEEY| V= ((0.20x0.50x0.20) x2) x10.0 = 0.40
R mEy - MEmEEw| A= (0.20%0.50x2+0.20%0.20x2) x2x10 = 5.60

BEIIYHIY
»a (RC-40)t=10cm | A= ((0.30x0.60) x2) x10.0 = 3. 60
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e
E3H h
N I
\
&
2004 FiiE / g|
] wnros /] - a | —r
E: s _ 620084 FiEE g| 8
e =
Ed Al R - Tk g 4 B # 0 =
Ba - ITHRERR |L1682 xW100 xH2000f N= 10.0 10.0
o ck=18N/mn
avh)— k| &Ees - SEiEE| V= (0.50x0.50x0.70x0.09x0.09x0.70) x2x10.0 = 3.39
B s - mEEw| A= (0.50x0.70x440.2x3.14%0.7) x2x10.0 = 36.79
BEIIYHIY
HEBERA (RC-40) t=10cm | A= ((0.60x0.60) x2) x10.0 = 71.20
FRYE (1.10x1.10x0.56+0.60%0.60x0.10) x2x10 = 14. 27
HER (1.1%x1.1—0.5x0.5) x0.56x2x%x10 = 10. 75
: 1) 14.27 - 10.75/0.9 = 2.33
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EEENE BHUNETEESE 102 Y
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(262)
e
RTER
ERT YD
? é" Qv A-RTEE $=1/3
- Ar —lA - =l cwmlw J L
- & E#avoy—t Ll i s a
* ¢ z :/ 2 8 o0tis iz N 1| N1 P4 ‘r%_{ & g
o3_Jfilf. woIS Ml s 2 o == o 48 =
t,ﬂ_v a4 B-BYFEM S=1/3 (A P2 &
Br .—lB = 2;:1»2:(47 T 9 2 =)
ESEPZDES [ SRmmanan L D0 | | Ds0_|
D20KA FikE ] 7] 0500 0500
% 01000 01000
WA
o
1017 ol
Al Bt - ik F & R W H B
EEREN L1126 xW262 x H1195| N= 10.0 10.0 H
o ck=18N/mrf
avy)—bk | ER - kS| V= (0.40x0.40x0.50-0.09x0.09x0.50) x2x10.0 = 1.52 m°
B E - HEEEY| A= (0.40x0.50x4+0.2x3.14x0.5) x2x10.0 = 14.28 m
BEITITY
EMBR (RC-40) t=10cm | A= ((0.50x0.50) x2) x10.0 = 5.00 m?
RIE (1.0. x1.0x0.36+0.50x0.50x0.10) x2x10 = 770 m
HE (1.0x1.0—0.4x0.4) x0.36x2x10 = 6.05 m
K asn 7.710 - 6.05 /0.9 = 0.98 m




fXY s = =
RRENE (RE) HA#HsHESE 10£2 1
BERERT
B&
=
" é o BEMERAE S-1/3 2 g
A7 D = N7 4 [Z i ﬁﬁf’f
g@aroy—r = @ U—+ / /U S
SNEE 01100
Ed Al g - Tk g 4 B # 0 =
FEEZMNIR | L400 x W74 xH1903| N= 10.0 10.0 H
o ck=18N/mn
avhy)—b |8 - BEmEEY| V= ((0.50x0.50x0.60-( 0.108x0.074x0.60x2)) x10.0 1.40 m®
B - eS| A= ((0.50x0.60x4) x10.0 12.00 m?
BEIIYHIY
HERA (RC-40)t=10cm | A= 0.60x0.60x10.0 3.60 m?
FRYE ((1.10%x1.10x0.46+0.6%x0.6x0.1) x10.0 5.93 m’
HER (1.1x1.1—0.5x0.5) x0.46x10.0 4.42 m’
EX s 5.93 - 4.42 /0.9 1.02 m’
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RREN - BIEEME HNABEEE 1024 1)
I
Hi% 0 £@ETTS o
4_5‘ B4 EIL—L (Pii—)
8 ABIFEREE S=1/3
( =]
6L [% é, g%
Al @ 8
J BERMEHAER 5=1/3 ® ® g
v ERaLyy—t ‘ &gy y—+t | 8
FYPX—35 v Daoo
SNEE 0600
1100
Ed Al R - Tk g B 0 =
F|MEERNR  |[L400 x W74 xH1903| N= 10.0 10.0 H
o ck=18N/mn
avsy— b+ |\ - SEEEw| V= ((0.50x0.50%0.60-( 0.108%0.074x0.60x2)) x10.0 = 1.40 m®
B AR - SkApiEEY| A= ((0.50x0.60x4) x10.0 = 12.00 m?
BEIT9NTY
EWRa (RC-40) t=10cm | A= 0.60x0. 60 x 10.0 = 3.60 m?
KR ((1.10%1.10x0.46+0.6x0.6x0.1) x10.0 = 593 m
HERE (1.1%x1.1—0.5x0.5) x0.46x10.0 = 4.42 m
s 593 - 4.42 /0.9 = 1.02 m




